FTH20FEEENRXPRE
(FR25F4A1BM>FR264E3A31HET)

[HEEAE L EHERHE] [ B : FMA]
iR A ¥ =3 x H bid =)
¥ H # ¥ H #
BB 4 ) )| = 58 *t # B 4 & )] = 8 L

® @ =0-@ |@=0/2 ® @ =0-Q |®=0,Q

Ty S I I 7 I I I

HAREEEFAIA 4,800 4,800 0 100.0%| HEH 174,465 174,465 0 100.0%

EARBMEFRIRA 4,800 4,800 0 100.0% (B)HEHFY 48,952 48,952 0 100.0%

() BHE 505 505 0 100.0%!

HEZEERIA 119,199 119,199 0 100.0% (B EERNE 8,947 8,947 0 100.0%!

E L EEEE R SIA 15 15 0 100.0% (B)EEE 456 456 0 100.0%

B ERESF BURA 108,869 119,184 A 10315 91.3% (B)RE 1,512 1,512 0 100.0%!

ENEEESFRIRA 10,315 0 10,315 — (B)EHE 1,530 1,530 0 100.0%

BIMREEE 5,185 5,185 0 100.0%

BEIRA 28,033 28,033 0 100.0% EE S ToE-E S 1,393 1,393 0 100.0%

EEBHER DB FIA 13,532 13,532 0 100.0% ERTHER DB R 6,703 6,703 0 100.0%

ZERAETFENA 10,000 10,000 0 100.0% ZRAEEEE 7,000 7,000 0 100.0%

FITHEEIRA 4,501 4,501 0 100.0% FIITHEEE 7,282 7,282 0 100.0%

B R F s E S 10,000 10,000 0 100.0%

RERA 3,451 3,451 0 100.0%| [SpESelz i Siibepit: 3 30 = 3= 27,925 27,925 0 100.0%

LTERERBIA 2,201 2,201 0 100.0% EERERENAELERAEE 10,300 10,300 0 100.0%

HHRERAIA 1,250 1,250 0 100.0% EEREREN AREEEER 36,775 36,775 0 100.0%!

HURA 130 130 0 100.0%| EEE 109,068 109,068 0 100.0%

SZELF BURA 2 2 0 100.0%! % B REN 10,000 10,000 0 100.0%!

HURA 128 128 0 100.0% (B) M FY 36,977 36,977 0 100.0%

(%) EHE 312 312 0 100.0%

(B)RERAE 7,070 7,070 0 100.0%

(B)EE#H 2,608 2,608 0 100.0%

(B)RE 672 672 0 100.0%

(B)E$H#H 1,176 1,176 0 100.0%

—REER 32,502 32,502 0 100.0%

HiEH 17,751 17,751 0 100.0%

[ (ABEFBRA 5] 155,613 155,613 0 100.0%| [ (B):HEFEZHE &t ] 283,533 283,533 0 100.0%
[ (OFxFHIRZZEZE ] (A)—(B) A 127,920 A 127,920

HETE B EERIRA 161,785 161,785 0 100.0%| HEZEXH 3,865 3,865 0 100.0%
E L EESIAERA 12,064 12,064 0 100.0% BEATEI L EER 3,865 3,865 0 100.0%
=R E R E S E AR A 79,379 149,721 A 70,342 53.0%
ENEEESIARRA 70,342 0 70,342 -
[ (D)BREFBIRA 5t ] 161,785 161,785 0 100.0%| [ (E)#%&EBXH & ] 3,865 3,865 0 100.0%
[ (HFEEEHIRZZERE 1 (D)—(B) 157,920 157,920 0

[ (Q)MBEBRA &)

[ (H)EMBEFBZH &)

[ OMBEEHRZER 1 (G)—H)

i 30,000 30,000 0 100.0%
[ OFHEE & )| 30,000 30,000 0 100.0%
[ KWEAEE 1 (A+D)+(G) 317,398 317,398 0 100.0%| [ (L) XH&E 1 B)+(E)+EH)+() 317,398 317,398 0 100.0%|
[ (m)unsz=%8 1 (K—@) 0 0 0
LHRA A ET LA A
317,398 317,398 0 100.0% 317,398 317,398 0 100.0%
(7)=(A)+ D)+ (&) (T)=@®)+E)+H)+())
FIECEES A -] EEEF-=
0 0 0 — 0 0 0 —
0 7)— (@)=
IRA & REARRHIN S 250
317,398 317,398 0 100.0% 0 0 0 —
(7)+ () =(2) () — ()=




